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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl z9zmx [ NS | EW | mz2s | NS | EW | #1 | #2 | #1 ] #2 | #1 | #2 || Mean | Ns EW
1| N |None] 4ss-2 100 5CXW-4 | 800 900 14 NS100 | -5 12
2| E| NS 3NE5 460 3NW6 490 | 30 1 EWA470 1
3|8 |EW 3HW4 170 2SN-2 100 70 2 EWS0 | -3 1
4 | W |Both 2SN2 110 3DE3 110 | 220 6 NS10 3 3
5| N| NS 2SS4 170 4S84 620 450 10 NS130 | 1 10
6 | E|EW 5HW-2 200 4HW-2 200 NS270 | -2 2
7 | S |Both 2SN3 140 4SXN-1 200 | 340 8 EW20 | 4 5
8 | W |None| 5sW-1 50 5SE5 450 | 500 1 EW260 | 7 5
B3 IMP|26 |26 5 | 5
N K E N )
* B IMP 26 26
£+ INP 26 26
2 HVP 10.00 10.00
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i txzex | NS | EW | 5223 | NS | EW | #3 | #4 | #3 | #4|u3|#a Mean NS EW
1 N [None 4SS-1 50 3SS3 140 190 5 NS100 -4 -1
2 E NS 3NE5 460 3NE5 460 EW470
3 S | EW 4HW-1 100 3SN-1 50 150 4 EW80 5 -1
4 W |Both 2HS-1 100 3CS-2 200 100 3 NS10 -3 5
5 N | NS 2SS4 170 3Ss4 170 NS130 1 -1
6 E | EW 3SN4 170 4SXS4 590 420 9 NS270 -3 -8
7 S |[Both 4SN-1 100 3SN3 140 240 6 EW20 -2 -4
8 W |None| 4SE4 420 3NE4 430 10 EW260 -4 5
@3t IMP| 7 |20 10 | -5
- - N2
#* 3 K% 4 i &
* B IMP 7 20
&3+ IMP 7 20 13
» HVP 5.32 14 .68
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NS &2t mEF(RO0) 5 T bl 3 6 NS %% %+ #(F0
EW me® #3570 apie EW riss sp<p (R0)
B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | &¥zu% | NS | EW | #5 | #6 | #5] #6 | #5 | #6 || Mean | NS EW
1 N |None| 2SS4 170 4SS-1 50 220 6 NS100 2 4
2 E NS 3NE6 490 3NE6 490 EWA470 -1 1
3 S | EW 3HW3 140 4HW-2 200 340 8 EWS80 -2 -7
4 W | Both 2DE2 90 2HS2 110 200 5 NS10 -3 -3
5 N NS 3SS3 140 5HE-3 150 10 NS130 -1
6 E EW 3HW4 170 4SS4 420 590 11 NS270 -10 -4
7 S [Both 4CE4 130 3SN-1 100 30 1 EW20 -3 2
8 W |None 6SE-1 50 5SE-1 50 EW260 7 -7
@3 IMP| 6 |25 10 | -15
& Sy . - 2 2
¥ S )3 WA a 6 % B AL
* B IMP 6 25
&3 INP 6 25 19
- $-VP 3.77 16.23
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R tyzex | NS | EW | cyzu% | NS | EW | #7 | #8 |#7 [ #8 [ #7 | #8 || Mean | Ns EW
1 N |None 3883 140 3884 170 30 1 NS100 1 -2
2 E | NS 3NE5 460 3NE5 460 EWA470
3 S | EW 3HW-1 100 4HW-1 100 EW80 5 -5
4 | W |Both 2HS2 110 3DE-1 100 10 NS10 3 -3
5 N | NS 2SS4 170 4HW-2 100 70 2 NS130 1 1
6 E | EW 5HW-2 200 4SS4 420 220 6 NS270 -2 -4
7 S |Both 2SN3 140 4SN-1 100 240 6 EW20 4 2
8 | W |[None 4SE6 480 4SE5 450 30 1 EW260 -6 5
@3t IMP| 8 | 8 6 -6
wr || 7 A i 8 o
+ B IMP 8 8
&3 INP 8 8
2 HVP 10.00 10.00
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #9 | #10 | #9 [#10| #9 [#10 || Mean | Ns | EW
1 | N [None| 4ss-1 50 455-1 50 NS100 | -4 4
2 E | NS 3NE6 490 3NES5 460 30 1 EWA470 -1
3 (s |ew| 2Hw3 140 | anw-2 | 200 340 8 EWS0 | -2 7
4 | W (Both 2CS+1 100 3DE-3 300 400 9 NS10 -3 -7
5| N|Ns| 4ss2 200 3HE-1 50 250 6 NS130 | -8 2
6 E | EW 4HW4 620 4SXN4 590 1210 15 NS270 -13 -8
7 | s |Both|  3SN-1 100 4SN-1 100 EW20 | -2 2
8 W |None 6CW-1 50 4SW4 420 470 10 EW260 7 4
#3+ INP| 10 | 39 26 | -10
B 9 KNU 10 Ji33
+ BINP 10 39
£+ NP 10 39 "
# 3#-VP 1.79 18.21
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Table 6

[1]

12 NS iz #2&F0)
EW Rirsg ik (RO)

B# | DL | & #% ol 4 L ik REAA | COP Datum
T
R txz 2% | NS | EW | 2223 | NS | EW | #11 | #12 [#11|#12]#11[#12 || Mean NS EW
1 N |None| 3883 140 38S3 140 NS100 1 -1
2 E | NS 3NES 460 3NES 460 EW470
3| S |EW 2HW3 140 4HW4 620 | 480 10 EW80 -2 1"
4 | W |Both 3DE-1 100 2SN-1 100 200 5 NS10 3 3
5| N| NS 3584 170 4SS-1 100 | 270 7 NS130 1 6
6 E | EW 4SXS4 590 4SN4 420 170 5 NS270 8 -4
7 | S |Both 4CE4 130 4SN-1 100 30 1 EW20 -3 2
8 | W |None 4SW5 450 4SE4 420 30 1 EW260 -5 4
a3 INP|27 | 2 3 | 21
B 11 & B2 R 12 ¥ %
* BINP 27 2
&3 NP 27 2 ’
2 HVP 17.50 2.50
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Kl 29zmx [ NS | EW | 2522% | NS | EW | #13 | #14 |#13|#14|#13]#14 || Mean | Ns EW
1 N |None 4SN-1 50 2SS3 140 190 5 NS100 -4 -1
2 E NS 3NE6 490 3NE5 460 30 1 EW470 -1
3 S | EW 4HW4 620 4HW-1 100 720 12 EW80 -11 -5
4 W |Both 1HS2 110 2HS-1 100 210 5 NS10 3 3
5 N NS 3HW-1 50 3SS4 170 120 3 NS130 -2 -1
6 E | EW 4SXS4 590 5HW-2 200 390 9 NS270 8 2
7 S |Both 3SN3 140 1SN2 110 30 1 EW20 4 -4
8 W |None| 6SE-1 50 4SE4 420 470 10 EW260 7 4
@3 IMP|25 |21 4 | 2
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% 13 B p 14 Cyclops
* B IMP 25 21
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2 HVP 11.67 8.33
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B# | DL | £ % MPEZ ARE ES R A~ COP Datum
1
Kl zmzmx [ NS | EW | 2mz2% | NS | EW | #2 | #1 | #2 ] #1|#2 | # Mean | NS EW
1| N |None|] 5CXW-4 | 800 45S-2 100 | 900 14 NS100 | 12 5
2 E NS 3NW6 490 3NE5 460 30 1 EW470 -1
3| s |Ew| 2sN-2 100 3HW4 170 | 70 2 EWS0 | -1 3
4 W |Both 3DE3 110 2SN2 110 220 6 NS10 -3 -3
5| N| NS 4554 620 2554 170 450 10 NS130 | 10 -
6 E | EW 4HW-2 200 5HW-2 200 NS270 -2 2
7 | s |Both| 4sxN-1 200 2SN3 140 340 8 EW20 | 5 4
8 W |None| 5SE5 450 5SW-1 50 500 11 EW260 -5 -7
B3 IMP|26 |26 5 | 5
S /,5 ‘\/. ) N /-
2y 2 o REA 1 T ¥
* B IMP 26 26
&+ 1INP 26 26
2 3-VP 10.00 10.00
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1
b= H2%% | NS | EW | 6%=223% | NS | EW | #4 | #3 |#4 | #3| #a|#3 || Mean | Ns EW
1 N [None 3883 140 4SS-1 50 190 5 NS100 1 4
2 E | NS 3NE5 460 3NE5 460 EW470
3| S |EW 3SN-1 50 4HW-1 100 150 4 EWS80 1 -5
4 | W |Both 3CS-2 200 2HS-1 100 100 3 NS10 -5 3
5| N | NS 38S4 170 2SS4 170 NS130 1 -1
6 E | EW 4SXS4 590 3SN4 170 420 9 NS270 8 3
7 | S |Both 3SN3 140 4SN-1 100 | 240 6 EW20 4 2
8 | W [None 3NE4 430 4SE4 420 10 EW260 -5 4
23+ INP|20 | 7 5 | 10
A 3 > -
#* 4 i ja 3 HHEie
8 P 20 7
&3+ INP 20 7 s
# HVP 14.68 5.32
5t
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EW maEsr #ep (R0) a e EW mz® $3#(FC0)
B# | DL | £ % MFE ARE ES A%ERE A COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #5 | #6 | #5 | #6 | #5 || Mean | Ns EW
1| N |None|] 4sS-1 50 2584 170 220 6 NS100 | -4 2
2| E| NS 3NE6 490 3NE6 490 EW470 | -1 1
3| s |Ew| 4Hw-2 200 3HW3 140 | 340 8 EWS0 | 7 2
4 | W |Both| 2Hs2 110 2DE2 90 | 200 5 NS10 3 3
5| N| NS 5HE-3 150 3583 140 10 NS130 | 1
6 | E|EW 4S84 420 3HW4 170 | 590 1 NS270 | 4 10
7 | S |Both| 3SN-1 100 4CE4 130 | 30 1 EW20 | -2 3
8 | W |[None| 5SE-1 50 6SE-1 50 EW260 | 7 7
@3- IMP[25 | 6 15 | 10
VA 7 b Sy X -
®5 6 % A E R 5 F= ha 8
* @ INP 25 6
&3 IMP 25 6 0
» HVP 16.23 3.77
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
R tyas% | NS | EW | ¢9z2%% | NS | EW | #8 | #7 | #8 | #7 | #8 | #7 || Mean | Ns EW
1 | N |[None|] 3SS4 170 383 140 30 1 NS100 | 2 -1
2| E|Ns 3NE5 460 3NE5 460 EW470
3|s|EwW 4HW-1 100 3HW-1 100 EWS0 5 5
4 | W |Both| 3DE-1 100 2HS2 110 10 NS10 3 3
5| N| NS 4HW-2 100 2884 170 70 2 NS130 | -1 -1
6| E|EW 4SS4 420 5HW-2 200 220 6 NS270 | 4 2
7 | S |Both| 4SN-1 100 2SN3 140 240 6 EW20 | -2 -4
8 | W |None|] 4SE5 450 4SE6 480 | 30 1 EW260 | -5 6
23+ IMP| 8 | 8 6 -6
Al -
B 8 X4 7 Fei= i3
* @ INP 8 8
&3 IMP 8 8
2 HVP 10.00 10.00
5t
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1A
NS m#® 2 %(FC0) 1 0 T bl 5 9 NS #+% mE=(R0)
EW f## w2 3(R0) apie EW %3z BEE(PO
B# | DL | & #% MEE M E ik REAA | COP Datum
T
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #10 | #9 |#10] #9 |#10] #9 || Mean | Ns EW
1 N |None| 4SS-1 50 4SS-1 50 NS100 -4 4
2 E | NS 3NES 460 3NE6 490 30 1 EW470 1
3| S |EW 4HW-2 200 2HW3 140 | 340 8 EW80 7 2
4 | W |Both 3DE-3 300 2CS+1 100 400 9 NS10 7 3
5| N| NS 3HE-1 50 4SS-2 200 || 250 6 NS130 -2 8
6 E | EW 4SXN4 590 4HW4 620 | 1210 15 NS270 8 13
7 | S |Both 4SN-1 100 3SN-1 100 EW20 -2 2
8 | W |None 4SW4 420 6CW-1 50 470 10 EW260 -4 -7
A3+ IMP|39 |10 10 | 26
s+ |10 R 9 KNU
> B INP 39 10
&3+ 1P 39 10 »
2 HVP 18.21 1.79
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NS #tiEm #2 &(PFC) 1 2 T bl 6 1 1 NS iz~ w2 3(R0)
EW s ®i2k(R0) a e EW #+% my Z(FC)
B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
R tyze% | NS | EW | cayzu% | NS | EW | #12 [ #11 [#12[#11#12][#11 || Mean | Ns EW
1 N |None| 3SS3 140 3SS3 140 NS100 1 -1
2 E NS 3NE5 460 3NE5 460 EWA470
3 S | EW 4HW4 620 2HW3 140 480 10 EWS80 -11 2
4 W | Both 2SN-1 100 3DE-1 100 200 5 NS10 -3 -3
5 N NS 4SS-1 100 3SS4 170 270 7 NS130 -6 -1
6 E EW 4SN4 420 4SXS4 590 170 5 NS270 4 -8
7 S [Both 4SN-1 100 4CE4 130 30 1 EW20 -2 3
8 W |None 4SE4 420 4SW5 450 30 1 EW260 -4 5
@3 IMP| 2 |27 21 | -3
B* 12 # 4 11 B2 R
* B IMP 2 27
&3 INP 2 27 25
B VP 2.50 17.50
8t
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[1]

13 NS =%~ 34 5(RO)
EW =#® %22 (FC)

B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
b= H2%% | NS | EW | 6%=25% | NS | EW | #14 | #13 |[#14[#13[#14[#13 || Mean | Ns EW
1 N |None| 2SS3 140 4SN-1 50 190 5 NS100 1 4
2 E NS 3NE5 460 3NE6 490 30 1 EWA470 1
3 S | EW 4HW-1 100 4HW4 620 720 12 EWS80 5 11
4 W | Both 2HS-1 100 1HS2 110 210 5 NS10 -3 -3
5 N NS 3SS4 170 3HW-1 50 120 3 NS130 1 2
6 E EW 5HW-2 200 4SXS4 590 390 9 NS270 -2 -8
7 S [Both 1SN2 110 3SN3 140 30 1 EW20 4 -4
8 W |None 4SE4 420 6SE-1 50 470 10 EW260 -4 -7
@3t IMP|21 |25 2 | -4
]
B3 14 Cyclops 13 BPp
* B IMP 21 25
£ 3+ INP 21 25 y
- $-VP 8.33 11.67
5t




